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1,385 1,433 5.7 5.9
1,175 1,175 4.8 4.8
209 257 0.9 1.1
21,592 21,412 88.9 88.1
69 72 0.3 0.3
113 122 0.5 0.5
408 445 1.7 1.8
350 363 1.4 1.5
250 255 1.0 1.0
100 108 0.4 0.4
380 448 1.6 1.8
24,297 24,295 100.0 100.0
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19,090 18,367 18,045 16,904 13,849
3,630 3,082 2,615 2,194 1,689
11,361 10,647 10,308 9,434 6,747
4,099 4,638 5,122 5,276 5,413
78.58 75.60 74.27 69.58 57.00
6,633 6,755 6,968 6,784 4,648
2.88 272 2.59 2.49 2.98
9,188 9,051 8,780 8,264 -
2,188 1,767 1,155 1,119 -
1,953 1,952 2,003 1,617 -
5,047 5,332 5,619 5,477 -
29
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